EC/LEC(FWT)/2019 (4)

5. Which among the following rivers is not
originated from Western Ghat?

(A) Mahanadi River
(B) Krishna River
(C) Godavari River
(D) Cauveri River

e @in WD ARG o (A
TesAy N ?

(A) TR

(B) 3%
(C) (MR
(D) @A

TR Wed T A At o A S W
BE?

(A) TEF

(B) Fom T

(C) T =&

(D) wHadt el

6. If a man’s present age is 150% of whatiit
was 10 years ago, then calculate his present age.
(A) 28 years
(B) 24 years
(C) 30 years
(D) 26 years

OF IET I IFA W 10 I SR
IACIA 150% 1, €2 JGa o 3391 fefy 326 |

A) 283

53;242@ g - (“"’/Nbﬂ

@& 30z | o ne

oMy = T,

T3 A T ST S 10 7 S
SR 150% WA A, TR Al TaqH I
frenfia T |

(A) 28 94

(B) 24 =

(C) 30 =

(D) 26 =

7. Choose the correct sentence.
(A) Sony had bought two dozens ap

»('{) Sony bought two dozen apples.
(C) Sony bought two dozens apples.

ples. =

Vi
(D) Sony buy two dozen apples.

¢/

8. Which Wword can be formed from
VENTURESOME using any letter only a single
time? ‘

(A) ROSTRUM
(B) TRAVERSER
(C) SEVENTEEN

(D) SERMON

Coir & (o
VENTURESOME o afefens W

o 9

awwwwﬁﬂ%ﬁ@mwﬁm
I AQI?

(A) ROSTRUM ~
(B) TRAVERSER X
(C) SEVENTEEN

4B) SERMON

VENTURESOME %= a1 3y aotemd

(A) ROSTRUM
(B) TRAVERSER
(C) SEVENTEEN
(D) SERMON
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9. Which among the following is rich in 10. A man can row a certain distance
Ozone? ‘ downstream in 6 hours and returns the same
distance in 1-5 times the time taken in downstream.
= TrOposphere Ifl bst?'eam flows at rate of 2 km/hr, find how far he
(B) Mesosphere can row in an hour in still water (in km).
(C) Stratosphere (A) 12
(D) Ionosphere (B) 1125
(C) 10 ‘
(D) 12:25 :
fFrieie o v stwm s e s ot b ,\oﬂaaﬁ%@
(A) FeetiFmms 6 951 #ST AR FICod ASFENTRIES 92 1319
(B) o @ws 15 @il @ RaBSUSEESR
2%&/;1%1?31’6’@[ & IYIWWT%FEJ
(D) SRR ‘ A) 12 - D
BY 125 © &
)
Freafefaa nedl g7 TR i el 95fs o7 ,S(D 2:25
= ‘Efﬁ & & w1 e fewm S gh
(B) 6 S0 TS 3 YR eReT el gl Sehl

(C) SRR

4 15 Ton St w9 o1 | afe S it 2 ey
'muﬁmﬁ,aaﬁmvrﬁmmmﬁmﬁmm
et foreht 2rer s wes?

(A) 12
(B) 11-25
©) 10
(D) 12-25

11. Choose the correct sentence.

(A) The girl is being taken biscuits every
day.

4B) The girl takes biscuits every day.
(C) The girl is taking biscuits every day.
(D) The girl is taken biscuits every day.
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12. Who among the following were the first to
establish ‘Printing Press’ in India?

(A) French
(B) Portuguese
(C) British
(D) Dutch

OISR AT QYA I FioAT IR ?
(A) Tait™

£B) *rgfsrert

(C) fao==

(D) eawIEl

;mah ‘TIEE’ WA YT HHel T
et faa?

(A) Tf-ad!

(B) drgfT

(C) fafew

(D) &9

13. Choose the correct sentence.

(A) Avegetarianisaperson whonever eat

meat.’ '

(B) A vegetarian is a person wWho is'never
eating meat, *

() A vegetarian is/a person who never
eats meat,. .~

(D) A vegetarian is:a person who never is
eating meat, - «

14.‘ Find'out whether there is any grammatical
error in the senténce below, -

If T were him,/I would have taught/those
cheats a lesson,

(A) No error

(B) I would have taught
«£C) If I were him,

(D) those cheats a lesson

(6)

15. At what simple interest rate shall a sum Pf
money double itself in 4 years?
(A) 30%
(B) 25%
(C) 20%
(D) 28%

S 0T (I 0 G P 4 T R

§s
(A) 30%
J(B/g 25%

/
7 5 LAO
) D’() ._.-———9
(C) 20% -

(D) 28%

A0

S TR AT 1 ST e ThH 4 ST QT

el
(A) 30%
B) 25%
(C) 0%
(D) 28%

16,#*Ryder Cup’ is related to which sports?
(A) Tennis

(B) Golf

(C) Polo

(D) Badminton

AREH W (Ryder Cup) W o %
?

(A) GfFs »

B o ?

(C) Coeen

(D) ety y

"TE F' (Ryder Cup) T Qe gt

LT |
(A) P
(B) TEH
(C) dreh

(D) =refy=n



17. A man can do a piece of work

. : orkin5d
with the help of his son, the work can be 3);2: E:
3 days. In what time can the son do jt alone?

(A) 8 days
(B) 7 days
(C) 6.5 days
(D) 7.5 days

93 & 2 1 $ it ware otz | g o
TS AR e e 3 i et 7w | o e

1 TS T P 3T etraca 2
A
{ ) 8 At g M
(B) 7 fatw Y 3
(©) 6.5 i ‘3\/¢
(D) 7.5 fm <

T3 s wa wW 5§ fem ™ wwe ™
B el @& wm 3 fm ™ wes) «@w
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19. How many natural numbers divisible by 7
are there between 2 and 300?

(A) 42
(B) 32
(©) 30
(D) 35
2 @ 300-F W0 IOBfH G YA A
wre, @efF 7 @4l e 2

() 42

(B) 32

(C) 30

(D) 35

27300H 2 &) WIHR0 HEARE
B, IGe 7 5N ?

nis

1

T B! TR e e T W “"’Q »
(A) 8fm \/\« hich of the following Pala ruler founded
the Vikramshila University?
®) 7% (b (A) Ramapala
(C) 6.5f= (B) Kumarpala
(D) 7.5 (C) Gopala
N (D) Dharmapala
‘f\« T i1 TG faaraie warfera (Rmfawrera)
\r ofSw1 Tz ¢
O -
(B) FuRAE
\ (C) comerre
(D) «ofret
fremyed g3 g wmwet fawaeten
favafaareas wre M fau?
18. Choose the correct sentence. (A) TEIE
(A) Jimmy and I gone home. ™
(B) Jimmy and I went home. (B) FHRH
(C) 1and Jimmy went home. - (C) Tirdre
(D) HH9TA

AD) 1 and Jimmy had went home.

[Please Turn Over]
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21. Usain Bolt s consij
: : nsidered as the greatest
sprinterof all tlmes.Whichcounwdoeshegclonﬁ?
(A) Nigeria

(B) Kenya
(C) USA
(D) Jamaica

o 3

wo ® VoA
oh >

2337

(8)

22. The least number which, when d%vided by
35 leaves the remainder 25 and on diVi?lOﬂ by 45
leaves the remainder 35 and on division by 55

leaves the remainder 45, is
(A) 3455 ,
(B) 3475
(C) 3465
(D) 3445

(S

PR Frew 7 fAefa 5 farg oiel
FACE 25 A AT, 45 Fryl 35 SRR

mﬁzssm@ﬂm@ A |

(A) 3455

(B) 3475 ~
(C) 3465
(

D

(B) 3475
(C) 3465
(D) 3445
'S 3 L\
PO
( A
/) , q ) ¥ y
ya b
*
JRRES—
%4
\ o
LS

23. Find out the alternative of the underlined
word from the following:
I have come to know of your hole and
corner method of dealing with people.
(A) suspicious
(B) servile
(C) strict

AD) secret



24.

25.

tht will come in the *?* place?

S 43 ge " aagafaog
EIGHTY : GIEYTH : : OUTPUT : 9

(A) TUPOUT

TUOTUP
(C) TOUTUP
(D) VOTUTP

TR B & wIeiea 2

EIGHTY : GIEYTH : : OUTPUT : 9
(A) TUPOUT
(B) TUOTUP
(C) TOUTUP
(D) VOTUTP

ugfa=a & A8s?

EIGHTY : GIEYTH : : OUTPUT : ?
(A) TUPOUT
(B) TUOTUP
(C) TOUTUP
(D) VOTUTP

TVOTUpP

Choose the correct sentences
(A) Do you like the glas§of water?h*
B) Would you like a glass ofiwater?
(C) Do you like a glass of'water?
(D) Would you like/theiglass of water?

26. What will be the sequence of part of the
sentence starting from (1)'and ending as (6)?

(1):
. the.mext ofikin ®)

: wouldibe’provided to ®

- announced that financial assistance 7~
. of the deceased 4

. from the Chief Minister’s Relief Fund.

The district collector

The proper sequence should be:
(A) SQRP
(B) QSPR
(C) PSRQ

D) RQPS

(9)

EC/LEC(FWT)/2019

27. Changethedirect speechintoindirect speech.

I said to my brother, “Let us go to some hill

station for a change.”

Q{) Isuggested my brother that we should
g0 to some hill station for a change.

(B) 1asked my brother if he would go to A
some hill station for a change.

(C) 1asked my brother to go to some hill ¥
station for a change #*

(D) I permitted my bréther to'go to some
hill station for achanges

28. "Whatshiall be the sequence if the following
animals ate-written in ascending order of their full
grown size?

R (@) Elephant (b) Cat (c) Mosqmto (d) Tiger

(e) Whale -

(A) dabce

-(B)’ cbdae @Q

(C) dcabe ch d a &
(D) cdbae

T g Ao o 2w (el S

AR FeN (A TS T G| T, O G
@0 @2
(a) TS (b) RO () it (d) A9 (e) fofimrz

(A) dabce
(B) cbdae
(C) dcabe
(D) cdbae

e Frofefaa amoiens fares cgen ot st

TN A G Fa9=1 Il T T3S ShAH1 HerE
¥, & =fE 1 ge?

(a) BT (b) ToRIEN (c) TG (d) 9™ (e) &aeT

(A) dabce
(B) cbdae
(C) dcabe
(D) cdbae

[Please Turn Over]
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numbers is Product, then ratio of these
(A) 1:1
(B) 2:1
©) 1:2
(D) 1:3

R T T e Ao ferfree)
TOAEETeR! 4 T STER :
87 o, A5t o g

(A) 1:1
B) 2:1
<) 1:2
D) 1:3
30. Under the MPLAD scheme, what is the

quantum of funds allocated to each M.P. for
developmental work per annum?

(A) Rs. 10 Crores
(B) Rs. 2 Crores
(C) Rs. 1 Crore
(D) Rs. 5 Crores

AW SATH 2 (MPLIAD ) (U CHARETS
FIEA T 2ATSTF FTMI AOIRPTS T (el
ETkd

(A) 1010

(B)2 =%

(©) 1 @ifd

(D) 5 I

MPLAD e si=a, e feara s
ST e WrEeTE i T G 87

(A) ®10 FS

(B) §2 g

(C) &1 Fg

(D) &5 S

31. Find the value of fzgi);l_gl—“g ;2
J(A) 7.75 Ak
R R
©) 1 — "
(D) 6.65 338190 ¢
y o Bde
g (€ f
4+4x18- 68y 4
vmfﬁ#ﬁaﬁﬁszz;aijzg;g -
(A) 775 3
(B) 2
©1 /9 m} 7%
(D) 6.65 %
ﬁ,
4+4x18-6-8
NG, T 1336 —1a6ws
(A7.75
(B) 2
©) 1
(D) 6.65
Fill in the blank:
32. Her thinking leans democracy.
(A) to -
(B) towards NN

(C) with (\)
(D) for



(11)

33. The costof levelling a square ground at the
rate of Rs. 0-80 per 100 m? is Rs. 28-80. Find the
cost of fencing the same at Rs. 0-60 per m,

(A) Rs.21-60
(B) Rs. 144
(€©) Rs. 72
(D) Rs. 36

43 91T o W Far® 0-80 Hrl 2%
100 35 7Ca G 28-80 Brvt <1a5 27, €3 IR

fRT® 0-60 BI/ 1= wea Fvw ¥ v e
(A) 21-60 Bl
(B) 144 B
(C) 725
(D) 365 o
T3 1 SHIAATE FHA TR 11 &0-80

TR HAF 100 m” AT E28-80 T g8 | T SIS
SR TR ® 0-60/ TR N W *a T@E ars?
(A) 2160

(B) ®144
©) §72
(D) ®36

(A) Pinki asked to Gaurav that will he help
her in her work just now.

(B) Pinki questioned to Gaurav that will
you help me in my work just now. ¥

(2§ Pinki asked Gaurav if he would help
her in her work just then.

(D) Pinki told Gaurav whether he will
help her in her work just now. 4

. J) bede
f\ C) abcd
, (b (D) acbc

EC/LEC(FWT)/2019

let?csrg Fill in the blanks with appropriate set of

baab __ ¢
(A) abce
(B) bcde
(C) abced
(D) acbc

__bchde _ dec  dded

geyref Fefare aral SRR
.baab/_c_ chdcfa ded
(A) abce
(B) bcde
(C) abc
(D) acbc

T m@rﬁaﬁwﬁz’ﬂ
ic b bcl;dc _g_dc{e dded

Fill in the blank:
36. He got too tired
(A) for
(B) because off v O
(C) because of
(D) on »

__over work.

[Please Turn Over]
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37. What will come ip the *9° place?

VAP
8 4

(A) 53 Re-)

B) 43

«C) 33

(D) 23

(A) 53
(B) 43
(C) 33
(D) 23

38. Choose the correctly spelt word.
(A) Worresome
(B) Wormsome
(C) Worisome O
(D) Worrisom

A

30

30

(12)

39. Who among the following introduced the
‘Doctrine of Lapse’ policy?
(A) Lord Cunningham
(B) Lord Dalhousie
(C) Lord Canning
(D) Lord Mountbatten

fRrere Ty & FeREe Aife’ (Doctrine

of Lapse) 2T~ F(a~ ?

(A) =76 FIfE™
¢B) =T¢ T
fagr' (Doctrine of

(C) =76 Fifag
(D) =6

GEEIR L]

Lapse) ﬂ%ﬁm?

(B) :; g”'ol‘«:ﬂ

40. Which Indian State is known as ‘God’s
Own Country™?

(A) Telangana

(B) Kamataka

(C) Rajasthan

(D) Kerala
(God’s Own Country) 4= 28 7

(A) CSTETARI

(B) =&

(C) =7

D) (A=

FA WIATE T s AR 29 (God's
Own Country) ¥ faf=s?

(A) e

(B) AT

(C) TS&mH

(D) F&n



(13)

41. What will be the sequence of part of the
sentence starting from (1) and ending as (6)?
(1) : What handicapped people
P : an opportunity to pull their weight @)
Q: but what we are ready (%
R : and do something useful €
S: wantmostof allis (7
(6) : to offer is pity.
The proper sequence should be:
yAA) SPRQ
(B) QSPR
(C) PQSR
(D) RPQS

42. Find the maximum number of trees which
can be planted 20 metres apart on both the sides of
a straight road 1960 meter long.

(A) 194
(B) 198
(©) 199
(D) 196

1960 5o = @36 I, oA TS
Tl 5N TN 7Y, IW el 20 FoR s
RIole TN 2T AT ?

(A) 194

@B) 198

(C) 199

(D). 196

7

1960ﬁam®am§éqﬁrﬁwl

Fieae foawar @M ad §9 Afq ggad fawan
20 HiX 1 e |1 AY T 9A?

(A) 194

(B) 198

(C) 199

(D) 196

EC/LEC(FWT)/2019

43. What will be the sequence of part of the
sentence starting from (1) and ending as (6)?

(1) : The Reserve Bank of India has taken the
risk
P : as measured by the Wholesale Price Index
Q : by allowing a large flow of funds
R : when the annual rate of inflation
S : into the economy at a time @
(6) : is slowly moving up.
The proper sequence $hould be:
(A) SQPR
(B) QSRP
(C) PRQS
(D) RSPQ

44. Fear of spider is known as—
(A) Acrophobia
(B) Arachnophobia
(C) Claustrophobia
(D) Hodophobia

AR @e =7 TF TFEAR (U

frafeafad vl 57 wsgemg Arptenl T8 TR
TALS?

(A) ThIRsfas

(B) STrFgTH3fae

(C) Ferrm3faray

(D) T3t

[Please Turn Over]
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45. What \yill be the sequence of part of the
sentence starting from (1) and ending as (6)?

(1) : Yesterday, I chanced to meet
P: where he lived v -,

Q: and asked him A
R : now in his seventies o

. S anold acquaintance,

(6) : and what he did for his living.
The proper sequence should be:

- (A) SRQP

(B) QPSR
(C) PSRQ O/
(D) RQPS "

46. 1f =9+2)

., then find the value of ‘a’

from the equation 3x — 2 = 2x + 4.
(A) 16
(B) 12
() 14 '
(D) 18
T .\‘=(a:2) @@-2x+4
xﬁm‘a‘-amwv(b
&Hl/
(A) 16 N\ 4
(B)A2 >
Y
(D)

gax Vau
Y S EEEREEN
“q

)~

s

afe .\'=-(i‘—;—:—)- B VY dE 3x-2=2x+4
FHEUER o’ B T Fd A2

(A) 16
) 14 ',,Q _ /-\
~
O 18 D et td

""V N

p ¥

o<

47. Find out the alternative of the underlined
word from the following:
Wait here, I shall be back in a ity
(A) after some time » T
(B) by some vehicle —
(C) inahurry /
(D) atonce =

word from the followi
The new e icy is likely to Lun
u eath
(A) create ems

( ®matters  © /’\
C) things difficult — }
nt _

r difficulties =
( ncounte r

48. Find out the al@) ¢ underlined
m

49. P is the mother of X. X is Z's wife. Y is
P's brother and Q is P's husband. Who is Q to Z?
(A) Daughter-in-law
(B) Father-in-law
(C) Son-in-law
(D) Son

P, X~3 31X, Z-92 % 1Y, P92 B 9at Q,
P~92 T T®, Q, 297 (@ W

(A) (=, <.
AB) woz & = P°—

(
(C) &g A
(D) &=

PXRAMAIX,ZHRTAAIY,PH 9
RIQPRTAANI Q ZRFE?

(A) FErd

(B) =gU

(C) =

(D) ¥



pu=sie S <.
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50. 51. Choose the correctly spelt word.
(A) Harresment
(B) Harrasmant
(C) Harasment
/\/ v\ (D) Harassment
How many triangles are there in the given
figure?
(A) 17
(B) 19
(C) 18
(D) 16
Torz Foafbre Touf fage wie? 5. Golkunda fort is situated in which State?
(A) 17 (A) Karnataka
B) 19 (B) Telangana
(©) 18 e (C) Rajasthan
D) 16 (D) Kerala

(SIETPe! 7ol (I T SRAZS 2
(A) 5%

(B) (ST

owe (O
(D) A

TeTepue foheen F ToIH! STafedd 87
(A) FARH

7 (B) e

(C) TSEI™

(D) el

[Please Turn Over]
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Fill in the blank:

53. 1 Never seen such a picture before.
(A) has »

(B) was »
(C) did
“(D) have

54. Which of the following instruments
determines the purity of milk?

(A) Hydrometer
(B) Stalagmometer
(C) Thermometer
(D) Lactometer

TR B! 2Af19 $9 LA TES FA ?
(A) TR {7

(B) SBIIeTaicIfSGre

(C) RAfCAfaE

DY EERoE

TR T e ST GUh! g Ui
TS?

(A) TEIHR

(B) HETHNIR

(C) IR

(D) SRR

T et S ——

(16)

55. Which of the following is the largest
man-made lake of India?

(A) Dhebar

(B) Chilka

©) Chembarambakkam

(D) Dal

FrRRITea W0 (IS SRd a1l 7B OrTed
e
(A) (@3 <

(B) fo=t . Q)

(C) GRAIF

(D) ©re

T Y FAIE qRaH FA=<1 e A
fafifg oo 812

(A) <o

(B) Tacat

(C) ~rauaaery
(D) T

56. Who gave the Theory of Relativity?
(A) Galileo Galilei
(B) Archimedes
(C) Sir Isaac Newton
(D) Albert Einstein

‘Theory of Relativity’-3 2@ (I ?
(A) tifefere sy -

(B) wfFfafes
(C) TR W2 8o

‘Theory of Relativity’ I ya &1 fag?
(A) Tafafera afaen

Mwﬁw@ﬁ»ﬁ?
(B) 3nfhg

(C) W 3E~am=* =
(D) 3T FTEA
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- 57. In which session, Moderates and the
58. The HCF and LCM of two numbers are
E;(;r;;msls in the Indian National Congress splitin 12 and 180 respectively. If the difference of the
1 numbers is 24, their sum is
(A) Madras (A) 66
(B) Calcutta (B) 69
(C) Surat (C) 96
(D) Nagpur (D) 104
1907%@“%@%@@ Eﬁﬂ‘{w 51D, 8 F ALY, 12 @R
@ FANARR e Rowew € 180 1 7 i<t b7 A 24 =, L 7 T
(A) TS Tt o
(B) T PR = ! .
(B) 69 . (%
4&) T B o =
(D) e ~ ) %5
104, e
HCF T LCM %#9: 12 T 180
1907 W1 HRATE T el A Afae=m qﬁ = 24 B w3, ffieean drmdel

FAEE! 1 ImTeE fawfsa wyoa fadi? 5
(A) H19 (A) 66
(B) HIeTehral (B) 69
©) @ (C) 96

(D) AT (D) 104

>
(z@

59. Find out whether there is any grammatical
error in the sentence below.

_ My father goes/to his ofﬁce/ﬁve day week.
—————
(A) No error )
(B) to his office
(C) My father goes
M five day week

[Please Turn Over]
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60. In which state of India famous ‘hornbil’
festival is celebrated?

(A) Arunachal Pradesh
(B) Mizoram
(C) Manipur
(D) Nagaland

SIS @ e e wiae o
(C) wtfelza

Hfere zq 7
(D) =15t @

(A) SIFeH {7

(B) TrrErams

AR % T Wf g 2 faret seqe e
37

(A) FAFUMFETHRY

(B) o=y

(C) Hforgz

(D) Armeame

61. A train passes a platform in 40 seconds and
a woman standing on the platform in 30 seconds.
[f the speed of the train is 108 km/hr, what is th
length of the platform?

(A) 1020 m
(B) 300 m
(C) 100 m
(D) 900 m

93 GF 93

O3 NFATS TAFE 40 € 30 wfeas
IR Gaba siferast n% /%1 T,

e o 3w ¢

D) 9 .
SR T R IR wfereT
o Fm 33?0 JIFTA IR TH| IR TR
Tf-Am 108 R ST B WY, T SR T w7
(A) 1020 iR
(B) 300 H&X
(C) 100 =R
(D) 900 "X

(18)

s ——

a started journey f_rom their
ction and walked for 10 km.

Thereafter Sheela turned .left and wai}lizg 1:0):
10 km and Bela turned right .and wa d for
10 km. What is the present distance betw

62. Sheelaand Bel
office in opposite dire

them (in km)? N

(A) 20 n L V/

(B) 3 Wi *w ¢

(C) 10 L e L

(D) 8 ‘}

A @3 (&S Rerfte
Wmﬁﬁmﬂa" IIT?JIQ?I?@
A1 Fiferes L2 SR (@ TR R
10 fefa form DAE RIS S
s (fafa)? _

(Ay2 & o 8

B 1o

) | r'/( o pJo ./’;

(D)”8 - -

7 e A AfEgEne fagda fearm amn

S T gaa 10 feen gz 2 @t den ardh
T T2 33 10 fFn Jrz 5377 Fem T ak wa
10 faveh dren fza w3, admrmn i gz guden g
#a B (fFm)?

(A) 20

(B) 5

(€) 10

(D) 8

63. Choose the correctly spelt word.
(A) Consansus =
(B) Consensus -
) Cocensus
(D) Consencus =

vp»
WS . O > -
(o WAL L 3 P
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64. Sixbellscommence tolling together and toll
at intervals of 3, 6, 9, 12, 15 and 18 seconds

respectively. In 30 minutes, how many times do
they will toll together?

(A) 12 times
(B) 15 times
(C) 10 times
(D) 9 times
A 9B G0 A 7 JATFW 3, 6, 9, 12,
15 93R 18 (ILFS ST AT | 30 RS Fwew whrafe
GG FOAF AGL ?
(A) 12317 5(
(B) 15317 b
) 103" O
(D) 93 R
B I HUAEE Th WIYHT 959 Td HHW: 3, 6,
9, 12, 15 T 18 Tshrsah! F=aue™ =58 | 30 figem,

’)) é/q)”’? ’<’ i

foe® wah T +fd vee a9s?
(A) 12 7e% c
(B) 15 TF fo
(C) 10 9= =
(D) 9 W 3 2

65. Which among the followingyArticles of
Constitution of India abolishes thé Untouchability ?

(A) Article 18
(B) Article 16
(C) Article 15
(D) Article 17

HRYET @ /AR (Article) ST
AT I I TACR2
(A) Arucle'18
(B) Article 16
(©), Article 15
Article 17
SR ST % YR (Article) Faga
I W fawad v 97
(A) Article 18
(B) Article 16
(C) Article 15
(D) Article 17

R aaad

LY - =
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66. Change thedirectspeechintoindirectspeech.
He said to her, “Don’t read so fast.”
(A) He ordered her don’t read so fast. #A -
(B) He advised her don't read so fast. >~ '
(@3 He told her not to read so fast.
(D) He requested her not to read so fast. =

——

67. Simplify:

N e

A) 1

(B) 2
©) -2
(D) -1

] FFA ©

H(%‘“%‘%)+2§}x2§]+(§_3g/__2)=?

(A) 1
(B) 2
©) -2
(D) -1

T TR

7 5 1 1 31 (5 ,4 B
l:{(-§+—2-——6—)-r2§}><277']—(7—37—2)—r)
(A) 1
(B) 2
C) -2

(D) -1

[Please Turn Over]
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68. Which Indian personality has been recently
appointed as CEO of Twitter?

(A) Parag Agarwal
(B) Sunder Pichai
(C) Chirag Agarwal
(D) Parag Dubey

F2If (1 S8 §25 (Twitter)~a3 CEO
fdifoe zraes 2
J/,() 2719 WSRET
(B) A forsfg
(C) foan wsrmear=
(D) =191 R

BTl T UG geTah safareae s Twitter
F CEO fagaa nftws w72

(A) 97 37Uare
(B) §= fy=mg
(C) faum smEm=
(D) 9 ga

&

69. Fi&er there is any grammatcal

error in the sentence below.
He is going everyday/for a morning walk/
with his friends and neighbours.
(A) No error
(B)_ for a morning walk
AC) He is going everyday
(D) with his friends and neighbours

(20)

70. Which part of the Human Body stores
Glycogen?
(A) Skin
(B) Intestine
(C) Liver
(D) Pancreas

WA *ACER (@1 T RIS T ACE?

(B) -@ -
S gD?

—~~

(C) TP
N oﬂf) AT
LB i

which among the following battles,
illery was used for the first time?

(A) Second Battle of Panipat
(B) Third Battle of Tarain
(C) First Battle of Panipat
(D) First Battle of Khanwa

fasfafee em g FHawm Imm gage
Trwies ¢

(A) =faetez fadm 7=

(B) @A G 7@

«) Ao %<x &

(D) XFFR =< Ta

TAfCUl TTEREEERd A Ufeen 9o
AyEEE wEm nfeE fam?

(A) U <& g8

(B) TUET= 941 43

(C) wrHTgas gfgel g

(D) EHa v 3o




(21)

72. If 15% of (A + B) = 25% of (A — B), then
what per cent of B is A?

(A) 400%
(B) 250%
(C) 110%
D) 30
(D) 300% N ¢
T (A + B)~a3 15% = (A - B)~93 25% W,
O A, B-O3 TS WOIen 9

A) 400% "
B as0q  BMIERFEC
(C) 110%  op-wp =-0"" %
(D) 300% op o YO
prun

IS (A+B) N 15% = (A - B) R 25% B ¥,
a9 A, B 1 shid ufaee 812

(A) 400% L}
(B) 250% gt '
(C) 110%
(D) 300%

73. How many litres of water should be added
to a 35 litre mixture of milk and water containing
milk and water in the ratio of 4 : 3 such that the
resultant mixture should have 60% water'in it?

(A) 15
(B) 10
©) 12
(D) 21

G 35 O Y @ ST, 74 8 T
weATe 4 ¢ 3 | Faregrsians foTbig ere e farafbrs

60% & ? ysy M v
( 15 s 20, (€2
(B) 10 507t "
(O)'12 - @
(D), 21

35 ferera gy T A fasor, g8 T A
ST 4 - 39| T Tevsror s feret et feramen 03,

< T 60% U T 87
(A) 15 ,
(B) 10 o \:’ 9 %
(€) 12 w ! ‘
(D) 21 ﬁ“
(Vi3 " «°
21
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74. Which section of Buddhism does not
believe in idol-worship?

(A) Prayana

(B) Mahayana

(C) Hinayana

(D) Vajrayana

(AU @ =R hefrrer Rl 77
(A) =79
(B) W2 5 %/.F
(C) FTTH < 75? {p
(D) TG ' A
g, s e TR R e T 7
(A) "4

(B) HEMEM. ‘(; T _
(@)W ETIE 7~
(D) a5@™

Y G

5. Atrader marked the price of acommodity in
ordefto obtain the profit of 25% on the cost price,
butallowed a discount of 16% on the marked price.
His actual profit percentage will be

(A) 9%

(B) 25%
(C) 16%

(D) 5%

T TP QRSN TR Ry e
T, TS ST FANET TAF 25% 11 A | 5%
R 4rfETa Bo@ 16% 2e Wl Rer I AR,
TR AFEATE T© HOIX TS A2

(A) 9% - TPy
(B) 25% ,éff
(C) 16%
D) 5%

T AT T3 Sgehl T T8 TS fohd
S T Je Xf @ 25% ) ATH A | A ufe
ST a7 Terd TR ST 16% &1 g2 fesw fafss =
T, IGH ATt o Wowd Hid §19?

(A) 9%

(B) 25%

(C) 16%

(D) 5%

[Please Turn Over]
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76. What will be the sequence of part of the
sentence starting from (1) and ending as (6)?
(1) : No part of this publication may be
P : without the written permission
Q : reproduced, stored in or transmitted
R: of the copyright owner and
S : in any form or by any means
(6) : the publisher of this book.
The proper sequence should be:
(A) SRQP
(B) QSPR /
(C) PQRS
(D) RPSQ

Q
S

'emative of the underlined

word from th ing:
The trade union’s seemingly rightful

demand is only a sralking horse to blackmail the

management.
(A) suggestion
(B) proposal
(C) trick
(D) pretence

78. What will come in the ‘?’ place?




79. Changethe directspeechintoindirect speech.
He said to his servant, “Why arc you so lazy
today?” —
(A) He asked his servant why was he so
lazy that day.

(B) He asked his servant why he had been
so lazy that day. ¥ -

He asked his servant why he was so
lazy that day.

(D) Heasked his servant why he was being
so lazy that day.

o

%

80. When were the first general election

Lol_c Sabha held? (b

(A) 1954
(B) 1952
(C) 1951

(D) 1953 f\

TS %ﬁﬁﬁﬂw
TR ¢ 2 2 ;\1
O (A) 195 Py

(B). 195 @

1951 _

( 53 '

e TR el S AT e e feret?

(A) 1954

(B) 1952

(C) 1951
(D) 1953

(23)
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81. Which of the following is India’s highes!
sugarcanc producing State?

(A) Bihar
(B) Tamil Nadu
(C) Uttar Pradesh
(D) Punjab

SIRIGAE (@A AGy S BAM AT ZI

(A) fazm
(B) Oifierg
79 3G IAET9 995

W) Teadm
(D) Mg

GREIR]
T 3T T
foer

G

(C W

9%0 among the following is also known as
‘Father of the Indian Unrest’?
" (A) Valentine Chirol
(B) Dadabhai Naoroji
~(C) Bal Gangadhar Tilak
(D) Lala Lajpat Rai

SufeRred W & ‘Father of the Indian

Unrest’ a0 SfSiZ® 29 ¢

(A) ONTEToRA fHrae
(B) wMe} wetaife

Frered e ‘Father of the Indian Unrest’

wr ufe fafrs?

() A o o
(D) #E FEers AR
(A) varer=re feret
(B) e ARsft

(C) e TR foreTen

(D) een eeae T
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83 In India, which of the following longltudes
is known as the ‘Standard Meridian’?

(A) 84°30'E
(B) 86°30' E
(C) 80°30' E
(D) 82°30'E
SIS o1 (<ol wfiariceizs *Standard
Meridian’ J&f 337 ¢
(A) 84°30" o
(B) 86°30" 4
(C) 80°30 =%
(DJ 82030 =5
TECTH HEA WRAH T 2R “Standard
Meridian’ Y7 fafy=z?
(A) 84°30'E
(B) 86°30'E
(C) 80°30'E
(D) 82°30'E

84. Ayodhya is located on the banks of whi
river? .

(A) Yamuna
(B) Gomti
(C) Ganga
(D) Sarayu

I (N TAR
@ T

(B) ¢

©)

Dy

ararea g4 T AR srafedd 87

(A) g
(B) Tt
(C) Tm

(D) ]

-
(24)

85. The difference between a two-digit numbelf
and the number obtained by interchanging the
digits is 27. What is the original number? '

(A) 57

(B) 93

(C) 85

(D) 75

w2 wE @@ A @k GR R
wEafT 7 oHfiass FatE @ WY W O eI
27 1 33 WA e 2

(A) 57

(B) 93

(C) 85

(D) 75

' 86. Whichisknown as ‘power house’ of a cell?
(A) Mitochondria

(B) Centrozome

(C) Golgi bodies

(D) Plastids
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(25)

87. Find out whether there is any grammatical
error in the sentence below.

If she will be promoted/she will get/a higher
salary.
(A) No error

(B) she will get

(C) If she will be promoted - O
(D) a higher salary

88. Three years ago, the average age of a family
of 5 members was 17 years. A baby was born, but
the average age of the family is still the same today.
The present age of the baby 1s

(A) 1 year
(B) 3 years
(C) 2.5 years
(D) 2 years

o T2 WAt 5 M G0 AT
T Tod 17 92 | 93917 O F T 00! Gelze T8 | %
A ITH T ?

n0

(A) 1327 V. 1y
®) 37 oo -

(C) 2.53=A oL

D) 23=8

Fad 31,5 T YuE qiEarE 3ied SR

17 PO |y e e A STl e St
3R oy TR © W, T aaHE SAR A 7
(A) 199
(B) 3 ad
(C) 2.5 a4
(D) 2 a9
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89. The famous grassland of Africa is known
as—

(A) Pompus

(B) Steppe

(C) Preiri

(D) Savana

S s gl F A sAffoe?

(A) =™

(B) G5

(C) (=R

(ym

SR ARt e S Fefee
fafr=s?

(A) W™

(B) ®H

(C)sitt

(D) §ar

90. Which among the following Chalukyan
Kings performed ‘Ashwamedha Yajna’?

(A) Kirtivarman I
(B) Pulakesin II
(C) Pulakesin I
(D) Vishnuvardhan

e @m e wigHfs sy T
(B) @ sfez=i
(C) 2N TN

PR ?

(A) 2% DT > @

(D) fgseds =

frremed g9 S TSl ey a9 TR
far?

(A) Hifdador I

(B) YeTehf¥ I

(C) qeTehierd 1
(D) fesuae

Ay anrn iva. | [ ]



